ELECTRICIAN - Semester 1 Module 1 Safety practice and Hand tools

Reviewed and updated on: 015 November 2019 Version 1.1

1  Whatis the name of the safety sign? | SRR

RIcg PIATTH FATE?

Warning sign | IdTdeil [RIeg
Mandatory sign | 37Ta3de fdeg
Prohibition sign | TSt RIeg

Information sign | deTcHSD =g

O 0O v >

2 What is smothering in extinguishing of fire? | 3TaeT
T AHT FIT g7

A Adding the fuel element to the fire | Wﬁéﬂﬂ
IGEICH

B Removing the fuel element from the fire | EiEC R
S T AT

C Using of water to lower the temperature | STel &bl
YT FHeh ATTHTT S el

D Isolating the fire from the supply of oxygen | 3T

I JHTeFHTSTT ohl Tl & 37eTaT Hiatt

3 Which is the physical hazard? | =T & @ #ifas
RIGEZINE

A Smoking | &Y

B Vibration | &9

C Corrosive | &X0T

D Radio active | Xf3aT Afshadr

4  Which is the correct sequence of operation to be
performed when using the fire extinguisher? | &7 H &

T eI T 3YANIT el HI Tl HH FAT 57

A  Pull, Aim, Squeeze, Sweep | Eﬁ?ﬁ-ﬂ, IGHIGI ol dTTaT,
B  Pull, Aim, Sweep, Squeeze | EﬁﬂHT, IGEIGIH ol dTTaT,
HHATAT, STt

C Push, Arrange, Squeeze, Sweep | ﬂﬂo_ol?ﬂ, caaredd
xdll, adldl, %«HIO‘II

D Push, Arrange, Sweep, Sequence | ?ﬁw_eF-IT,
SHATEY el GATET, IeTshdd

5  Which step of the 5s-concept refers
“Standardization”? | 5s-TehoUal H [T H O hiaT a1

YIUT “Standardization” ﬁsﬁam%’?
Step -1 | 9IH IIOT

Step -2 | aﬁ?ﬁﬁﬂTUT

Step - 3 | JlT TROT

Step-4 | EIT-ro?ffﬂTUT

O 0O w >

6  Which plier is used for making wire hooks and
loops? | leT & TETR T 3TN AR & §h 3R T
JeITed H IT 82

A Flat nose plier | Fele Aol TollEX

Long nose plier | Ae=aT ST TATAT

B
C Round nose plier | T38 ATST TR
D

Diagonal cutting plier | ST 13T TARR

7 What is the use of pincer? | TOET &l T 39T &2
A Twisting the flexible wires | Felfdgeel dR &l
cfaEe LT

B Cutting small diameter of wires | BIE eITH & dR
hIcAT

C  Extracting the pin nails from the wood | Flaw_sﬁ'ﬂ?l
O qar el [Ahrerar

D Holding small objects, where finger cannot reach |

OIE TE TehgeTT, STEl Sarell a‘-rqg?.r: PaED

8 Whatis the name of road safety sign? | SH s
GR&T TRl T T 114 7

A Mandatory sign | 3Taeds feg
B Cautionary sign | Idde Kieg
C
D

Informatory sign | §IITcHD IBL

Prohibition sign | oS Reg
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9 What is the back-ground colour of warning signs in

the basic category? | H\?&I’Wﬁ'ﬂﬁﬁ?ﬁﬁ'%q%ﬂ
$T3T T LT FAT AT &7

A  Blue | AtelT
B White | 29
C VYellow | 9t
D Green | gl

10 Which type of fire extinguisher is used for fire on
electrical equipment? | ﬁagaswﬁmﬁyﬁr%gr
et AT HTTAATHS JITT [HAT SATAT B?

Halon type | gellel Yh

Foam type | ST Yh X

Gas cartridge type | WWW

Stored pressure type | FATed gaTd YR

o 0O w >

B Crane and slings | et 31 T&cfaT
C Layers and Rollers | AT AR Ao
D  Machine moving platforms | #2ffsT ATferd ClCHTH

15 What s starving in extinguishing of fire? | 31TdT
TSIl H T AT 82

A Adding fuel to the fire | Wﬁ'gﬂ?{mﬂ

B Using water to cool the fire | aﬁrﬁé‘uﬁm
Cxell

C Removing fuel element from the fire | STel T
3YYNT hieh ATIHTA T el

D Preventing oxygen supply to the fire | IEG KT
HTereISTet & 3T it & 37elaT et

11  Which is the waste disposal method that produces

heat? | 319ferse foqers fafer i @Y &, i a1t der
AT 8?

A Recycling | g?ﬁcla?UT

B Composting | ©Tq STeldl

C Incineration | HEHTRIOT

D Waste compaction | 3rqferse g

12 Which Personal Protective Equipment (PPE) is used
for the protection from fumes? | %’Q’ﬁ'ﬁ?ﬁ* KLY

o eafFaaTa gIam 3ushior (i) &1 39T foha
ST &7

A Apron | T

B Goggles | IRAT
C
D

Ear mask | ohlel shdd
Nose mask | oTeh shdd

13 Whatis the full form of BIS? | BIS Eh'l'q‘;Uﬁ'Fq%
Board of Indian Standard

Bureau of Indian Standard

Board of International Standard

Bureau of International Standard

OO w >

14  Which method is used to lift and move heavy

loads? | HT HR 33T 3R TATATTRT Fat o v T
ggfa &1 39T T STar &2
A Winches | faea

16  What is the name of PPE? | 9IS &7 ATH AT 872

Nose mask | «Teh shdd
Head shield | §X T shdd
Face shield | JgX I had
Hand screen | BT Thle

o 0O w >

17  Which disposal method of waste save lot of

energy? | Wﬁmﬂﬁﬁ'aﬁﬂﬁ%’,ﬁa@w
Follaardrg?

A Land fill | STET F aaT

B Recycling | EFIW

C Incineration | ¥THIHIOT

D Composting | €ITg STeldl
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18 Which artificial respiration method is to be
performed to the victim with injuries on the chest and

belly? | fohd FehR hr e eadreT fafer 1 yaier 39
qifsd & foIw i g, Tordeht ordl iR A A AT g

A Schafer’s method | %Y fafer

B Mouth to mouth method | ﬂ?ﬂﬂ?ﬁ'@'

C Mouth to nose method | ﬂ?ﬁﬂ'@ﬁﬁ

D Nelson’s arm-lift back pressure method | SedsT T
8T IR A gaa fafey

19  Which type of occupational health hazard is cause
for infection? | fFT YopR & ATTATIAS TATELT @R &

HIOT GehHAUT g ehdT &7

A Electrical hazard | faegea sJehars

B Biological hazard | éﬁmw

C Physiological hazard | QIR @ART

D Psychological hazard | mﬂﬁﬁﬂmﬂ

20 What is the use of this tool? | 3 3T T F4T
3T E?

Y
s _

A Holding the hot substances | I gert S gehgar
B Cutting and twisting the wires | dRI &I &leaT 3R
AT

C  Extracting nails from the wood | Sehar & el
IGEACCI

D Loosening and tightening the bolts and nuts | SleC
3R AT T EreT HLT IR HhAl

21 How will you diagonise the victim is suffering

under cardiac arrest? | ﬁﬁa?ﬁ?@tﬁ%ﬁwm'aﬁ
3T Y ggariar?

A Gets pain in spinal guard | ﬂaaﬁrgsﬁrﬁaéﬁ

B  Mouth will be closed tightly | ﬂ?@ﬁ?‘éaﬁ"ﬁ
EIRE]

C Heavy swelling on his stomach | %ﬁmﬂgﬂ
D Appears blue colour around his lips | ?Iaa?iﬂff
3R e LT

22 What is the name of the tool? | 3 3iISIR &1 F4T
ATH &2

ELN111114

Wire stripper | aRR ffgX

Crimping tool | %@CWTQFI'

Combination pliers | PIFFIAT TARR
Diagonal cutting pliers | ST HTEIT AT

O 0O w >

23  What is the name of the safety sign? | ENER
g Fram FaTg?

Warning sign | IdTdeil ieg
Mandatory sign | WWﬁF@'
Prohibition sign | TSt Ry
Information sign | H@H’IW%FE?

o 0O w >

24  What will be first-aid to be given to stop the
bleeding of the victim? | 9If3d o T&d & FgTT I Achat
& fore Far yrafae RIfehcar 3Uerstr aTs ST &2

A Applying ointment | HelgH oTdTTT

B  Keep the injured portion upward | il’lE(‘»l?TngSWT
I IR TG

C Covering the wound portion by dressing | e ofdl
EU 19T T ST AT

D Applying pressure over the injured portion | e
o9 G 19T 9 GaTq STefedt
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25 What immediate action should be taken to rescue
the victim, if he is still in contact with the electrical

power supply? | tﬁ%ﬁﬁ&ﬂﬁ%@ﬂdlc@lm* haH
SO R, af o 315 3t e e Eer & wiads
"qE?

A Pull or push him from the contact by hand | gTT
CaRT @i AT UFHI1 S

B Inform your authority about this electric shock |
379 iR ey g1 & aR 7 STH &

C Call someone for helping to remove him from
contact | faelY T 3 e &l PoTal 8 Jelll

D Break the contact by switching OFF the power

supply | WWE#WWQWW@EW

26 What is the name of the cautionary sign? | 3H

JIde [RAeg T ATH FATE?

School | facTer

Guarded | I8

Unguarded | 37&RT&d
Pedestrian crossing | ﬁ?\ﬂ'm

O O w >

27  Which is the golden hour for the victim injured on

head with risk of dying? | If¢ fifsd I R A Ac =l &

3R gg FIXIET &Y, A 39 forw Tafoia ger sl arg?
A First 15 minutes | 98 15 f&Asie
B First 30 minutes | 98l 30 fHsIC
C  First 45 minutes | 98l 45 fHsIC
D First 60 minutes | 9gel 60 Aae

28 Which condition of the victim is referred as COMA
stage? | NS Fr iaT A AT I AT g SATAT B?

A Unconscious but can respond to calls | Q%TQTE?!T
TR el TR 3eck el

B Conscious but cannot respond to calls | ?f?fﬁl%?ﬂ
TR Fellol T Secld o &ell

C Breathing but cannot respond to calls | I AT 9T
Fellel 9T 3ccl & &=t

D Lie totally senseless and do not respond to calls |
T TG HAGTEI gt oIe {61l Ud Jelled TR Secld o

el

Answers:

1-D|2-D|3-B|4-A|5-D|6-C|7-C|8-A]

9-C|10-A|11-C|12-D|13-B|14-B|15-C |

16-D | 17-B|18-D|19-B|20-C|21-D|22-D |
23-D|24-D|25-D|26-D|27-B|28-D |
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1  What s the use of this gauge? | sﬂzﬁaww

3T E?
e

T
A Check the internal radius of the job | CIEK]
3TaRes BT & S

B Check the diameter of cylindrical job |
SAATRR STTe T SATH ST

C Check the height and parallism of job | CIEK)
1S 3R AATARAT ST

D Setthe job on machines parallel to datum |
St i 7ALMNT & SeH & GHTAT TG

2 What is the name of the file? | & YT &T &T
ATH G?

Rasp cut file | IFT &he 3T
Single cut file | Tehel e XdT
Double cut file | GIgT e T
Curved cut file | FERTHR e TdT

O 0O w >

3 What is the name of the tool? | 38 3SR &r
FATATHG?

[~

7

A Divider | f3asst

B Inside calliper | 3TAR® $helldX

C 0dd leg calliper | A s o7 TR
D Outside calliper | ST FolldR

4 What is the cause for twisting defect in timber?
| oTehar  STATEEIT GIY T FIT HIRUT §?

A Defective storage | a’l’q'qc'\Uﬁ' HUSIUT

B  Uneven shrinkage | WW

C Improper seasoning | W@Tﬂﬁ'ﬂ

D Irregularity in growth of branches | QET3AT T
af # siferafrean

5 What is the use of mortise chisel? | 'rFl’IESIBGT
DolT T FIAT 3TN §?

A General chiselling work in wood | ofehar 7
AT BT 0T el

B  Making rectangular holes in wood | Flﬁf'ﬁ'
HTIATHR BiG;, el

C Paring and finishing joints in wood | F—lﬁ'?ﬁ
BicTetr uq fsferer &

D Light chiselling cleaning sharp corners and in

wood | TThal H §oohl BellehlUT JUT ol fehedTRT ST
qH1S

6  Which type of stake is used for sharp bends in
sheet metal? | ahtﬁwﬁéa’mg‘r%grﬁ»—&rw

T T 39T fhaT ST 62

A Square stake | JTPR Th

B  Hatchet stake | %ﬁl’?é_cﬁ

C  Blow horn stake | SelT gTe] T&ah

D Bevel edge square stake | Sadl Ul JAPR

&
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7  Which type of cold chisel is used for squaring
materials at the corners? | foha YahX T 331 Seil

T 3TYTIT FehaTRT IX YeTf ohl qaifehY it 8]
BRI IGINE

A Web chisel | SITell Seir

B Cross cut chisel | 31 &he Sell

C Half round chisel | Hﬁm@@ﬁ'

D Diamond point chisel | é’ITI'tl'\I'??E'@Trﬁ'

8 Which type of calliper is used to draw parallel
lines along the outer edges of the materials? | g

TR & el T 1T Tere & aredr Rl o
HHATeR T Eilel 7 g 8?

A Inside calliper | 3TAR® helldR

B Jenny calliper | 31T FHeliaT

C Outside calliper | STET el

D  Spring joint calliper | T&S3T S8 Shellax

9  What is the name of the drill bit? | & f3ef e
HTFATATH 82

Flat drill bit | Fele f3er foe
Taper shank bit | @R i fae
Countersink bit | FI3e A fae
Straight shank bit | T¢€ i fae

o 0O w >

10 Whatis the name of the stake used for
general purpose in sheet metal work? | e FecaH

AT IUANT g ot Feh T Teoh ST foham
ST E?

A Square stake | PR FTh

B Hatchet stake | 8¢ &

C Blow horn square stake | Wﬁﬁm

D Bevel edge square stake | Sdd TS JIThR
h

11  Whatis the number 1.25 indicates in ISO
metric fine thread M12 x 1.25? | mﬁﬁﬁﬁ

HTSeT U5 M12 x 1.25 H 1.25 SR FAT 30 HXar
e?

A Diametric of the thread | U3 &l a1 g

B Pitch of the thread | 5 &1 0=

C Depth of the thread | 23 &I IETS

D Length of the thread | ?Jgﬁ?—lﬁ'lé'

12 What defect will occur in timber due to
irregularity in growth of the branches? | Flﬁf’ﬁ'

ITAITAT T ATE@THT & 33Ted & HIOT it AT

&Iy 3cUeet BIcT 67

A Knot | s

B Cupping | AaT
C Cracking | dcahdlT
D Twisting | gHTAT

13  Which file is used for sharpening the blunt
teeth of a tenon saw? | Wéﬂﬂ\%ﬂﬁ%iﬁaﬁaﬁ

Aol YT & TorT Tord Tt T 3UNeT fohT ST 872
Square file | AR IT

Round file | gecTehiX el

Triangular file | ﬁﬁimi?ﬁ

Half round file | Hﬁww

O 6o v >
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14 Name the part marked ‘X’ of the file. | "X" &
ST YT & HIIT FT ATH TATST-

A Edge | T
B Heel | T
C Tang| &
D Shoulder | 2MesT

15 What is the name of the tool? | & 3SR &1
FATATH 82

ongﬂ P

A Jenny calliper | 31T ShelldR

B Inside calliper | 3TdRe $helldR

C Outside calliper | STET HhelldR

D  Firm joint calliper | %& SIS ShelluX

16 Whatis the name of the angle marked ‘X’ of

the chisel? | Sl H "X" GIRT Y& 10T & ATH
FATE?

Rake angle | Y& 10T

Point angle | q‘%aw
Clearance angle | fTFel® 0T
Inclination angle | EEI’W?#PUT

o 6 w >

17 What s the use of firmer chisel? | HHT Dl
T T 39T 82

A Paring and finishing joints | Bletel 3R ST T
i a

B  General chiselling work | ETHT Se11ehI0T
Eon)

C Making rectangular holes in wood | TR H

3MTIATHRR BG TaATedl
D Light chiselling and to clean sharp corner |

AP I EoohT DAThT TUT Aot ToheaTRT Y THTS

18 Which type of half lap joint is used if one part
of a job meets another part at some distance from

the ends? | ford YehTT &7 3787 1T S w=AeT fomam
STICT €, STel Sl T Ueh 81197 AT & ST A Fo g @
fAears?

A End-lap input | US-JlT S

B  Cross-lap joint | PIg-JT NS

C  Middle-lap joint | HEI-ST S1g

D Corner-half lap joint | HIAT-378 ST SIS

19 Which type of notch is used for making a
metal tray with 90° bend and an inside flange? | 90

°ﬂﬁ33ﬂ?3ﬂ?ﬁﬁﬁ§aﬁmﬁ$mum§rg
FelTet & foIT SR d TR o AT ST 39T fohdT SATdT
g7

A V' notch | VS

B Slant notch | faR@T &

C Square notch | IR AT

D Straight notch | @&
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20 What is the purpose of hem folding in sheet
metal work? | e Ao I & §H BIfesT T T

3T B?

A Helps for forming a square box | g f3eat
HI Tollel H TETTH

B Helps for bending sheet metal easily | efie
ATH I TIAAT & AlSA H HgIH

C Prevents burrs forming after cutting | FIeet
T TRGY eI Ty & AT &

D  Prevents the sheet from damage | ef/c T &fa
q AT

21  Which defect in the timber is caused to
reduce its strength? | IehaT H ahieT T GIY ST

ATFT T FH AT 8 ?

A Twisting | HHATAT

B Cupping | 3T

C Cracking | dcehdl

D Irregularity | 3af&adr

22  What is the name of the hammer? | Sﬂg?ﬂ?
T FATATH &7

Claw hammer | EPT»IT'&'?J’ET

Ball peen hammer | Wtﬁﬂg?-ﬁST
Cross peen hammer | s disT g2itsT
Straight peen hammer | @E’tﬁ?{i{%ﬁg

o 0o w >

23 Which defect in timber is caused due to
improper seasoning? | Il HISTTeAdT oh SIROT
oThal H il AT GIY 3c9eoT BT £ 2

A Knot | IS

B Twisting | HHATAT

C Cracking | dcchdll

D Cupping | 4T

24 What is the name of the formation of thread
marked as X in the galvanized sheet pipe joint? |

FEN M IBT NS AXFTTH RTAT IS H T
ATH FAT§?

Hemp | S

Full form thread | gw»rqwﬁfra-s'
Tapered male thread | TARST AT I
Parallel female thread | THTedR BIHA U3

O 6o w >

25  Which type of notch is used for bending the
edge of the sheet? | aﬁz%ﬁﬁﬁnﬁsﬁr%gﬁm

YR T SI1<T ST TAN3T fohaT SA1aT &7

‘V’ notch | VAT

Slant notch | faR@T T
Square notch | IR AT
Straight notch | ITerT Ater

o 0o v >

26 What is the purpose of cross cut cold chisel? |
I T B3 Dol ol FAT 38T 7

A  Cutting keyways | SId<T Frea &

B  Cutting curved grooves | ThIHR ATl
hICAT

C Squaring materials at corners | HTHAT Pl PlAT
W AR F 7

D Removing metal from large flat surface | &31

ST Feig O Ut feshrore
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27  Which type of notch is used to make a job
with 90° bend? | 900 HIS=l 8] Tohd Feh X T wATel

G BT 82

A V' notch |V AT

B Slant notch | fat@T T

C Square notch | IR AT
D Straight notch | ST aTT

28  Which type of curve cutting hand saw is used
for internal cutting in wood? | eTehar &l TR

eI & ToIT fohd T ol ash shicaT & 3T
TAeT Y AT &?

Compass saw | FFATH T

Key hole saw | T grel 37T

Coping saw | I 31T

Fret saw | e 3TRY

o 0O v >

29 What is the name of the stake used for sheet

metal work? | € Aol 1 & forw 3UATeT sy arel
TH FIFITATH &7

A Square stake | PR FT&h

B Hatchet stake | %ﬁ?@?

C Blow-horn stake | Sl gl T

D Bevel-edge square stake | Saol TS galehT
TH

30 What is the name of tool? | 31T T 4T

A  Claw hammer | El*T»ITE?JiSI

B Tack hammer | éwaaiisl
C  Cross pein hammer | 31 9T g2iiar
D  Straight pein hammer | T Ui giaT

31 Which type of chisel is used for separating
metals after chain drilling? | T igia’:n F dIe

T3 Y 37071 ey R Ry T Y Sl
g fhar AT 82

A Flat chisel | TICET St

B Web chisel | SITIGR &air

C  Cross cut chisel | 1T e ell

D Diamond point chisel | @TI’WUI??E'M

32 Which type of stake is used for riveting or
seaming tapered cone shaped articles? | T YR

<hY Tk T ST ST A & TR & ol
Rt a1 WfHsT tet & v fomam Srar g2

A Square stake | IR Fh

B Hatchet stake | §c &

C Blow horn stake | Soll 8leT T

D Bevel edged square stake | Sad TSl IR
H

33 Which causes knot defect in timbers? | elhal
H IS SV T FIT HRUT &2

Defective storage | WWE'ITUT

Uneven shrinkage | mﬂﬁsﬁ?ﬂ

Growth of branches | Q@31 &I g

D Improper seasoning | ITeTd IaTfeiaT

(@ T -]

Answers:

1-A|2-A|3-B|4-B|5-B|6-B|7-D|8-B
|9-B|10-A|11-B|12-A|13-C| 14-B|
15-A|16-B|17-B|18-C|19-A|20-D |
21-D|22-A|23-D|25-D|26-A|27-A|
28-B|29-C|30-B|31-B|32-C|33-C|
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1 Whatis the current carrying capacity of 32
amp. rated cable, if it is protected by the rewireable

fuse? | 32 TTFUIX ICS hadl hT URT dgeT &THdT
T g1a, AfE 5 YeT: AR STee) I T &
wea forar margr

Pl

A 13 Amp
B 16 Amp
C 26Amp
D 39Amp

2 What s the possible range to measure the size
of the wire in a Standard Wire Gauge (SWG)? | SWG

T IR FT 3PN ATT HT R FAT§?
A 044
B 042
C 038
D 0-36

3  What is the name of the wire joint? | SH dRX
A HTFATATH §?

Aerial tap joint | TRUST ¢TI
Knotted tap joint | ATCS T AT

Duplex cross tap joint | gbo\icr{-l P T s

O 0O w >

Double cross tap joint | Selel g T s

4  Which type of soldering flux is used for
soldering galvanised iron? | Wﬂﬁ%’é’»ﬁm

g YR & TresRaT Folard &l 3TANT foham ST
&2

Rosin | ATSteT
Zinc chloride | STEAT FARTSS
Sal ammonia | |TeT 37T

Hydrochloric acid | 6|$§\I¢ﬁlﬂdﬁ &l

O 06 w >

5  Which method of soldering is used for quantity
production and for tinning work? | H#TAT 3cYTcdd

3R RS 3 g heT #r BT Rafey 3 st
T ST 82

A Dip soldering | BT @resRar

B Soldering with a flame | STl & AT Ales 3T
C Soldering with soldering iron | BTe8R3T 3T
& @Y Hesiar

D Soldering with soldering gun | ATesRIT T h
1Y s RaT

6 What is the name of the part marked as X in

the underground (UG) cable? | sﬁﬂﬁﬂﬁmﬁ
X I ST HI9T &7 ATH AT

(R

‘?\q
A

A

'

Bedding | SfSaT

Armouring | 3MARGET

Lead sheath | oIS efrer

Paper insulation | PIITST HdTelsh

o 0o v >

7 Whatis the full form of XLPE Cable? | XLPE hT
TIEIE
A  Cross Line Poly Ethylene

X’ess Line Phase Earthing

B
C Cross Linked Poly Ethylene
D Excess Length Paper and Ebonite

8 What s the purpose of ‘serving’ layer in

underground cable? | m@mmﬁaﬁww
T T 3TAT 82

A  Protect the cable from moisture | heol Pl THT
q ST

B  Protect the cable from mechanical injury |

FHaol T JiTAe &fad T =T

C Protect metallic sheath against corrosion |
e1Tfcdeh Shad ohl &TX0T I IdT=T

D Protect armouring from atmospheric condition

€@ N\IMI Question Bank

Page 10 of 35



ELECTRICIAN - Semester 1 Module 3 Wires, Joints - Soldering - U.G. Cables
Reviewed and updated on: 01% November 2019 Version 1.1

| 3TARTT T ARSI FUfe & s

9  Which type of fault of U.G Cable can be located
by this loop test? | ﬂﬂmﬁ'ﬂtﬁlﬂﬁm%%ﬁ\q
YR o GIY & TUTeT T AT FohdT ST TehaT &2

] |
I ,

Ground fault | a{\a’rsr

Short circuit fault | FIEFQﬁ'q?IaTGr

Open circuit fault | WW@W

Weak insulation fault | FHSR FTeleh a1y

o 0O v >

10 Which cable laying method is used in
generating station? | 3cUTgel Gt H fohd YahR hr

heel faoTet s fafer s gter fovar Sirar g2
A Inducts | SFCH

B Racksin air | gaTH{&H

C Along buildings | a1 & AT

D Directin ground | TS ST&T &

11 How many electrons are there in the valence
shell of a copper atom? | aﬁa:woga:m

ok A fohcel oIl 81 &2
A 1

B 2

CcC 8

D 18

12 What s the effect of electric current on neon
lamp? | ;hm?fqﬁﬁagaﬂma:rqmw
FEAIATB?

Heating effect | FSHIT THTT

Magnetic effect | ?:I;J-_GI@I?I‘ISTFH

Chemical effect | TS T8ITd

Gas ionization effect | 3 3TAATHIOT FHTT

o 0O w >

13  What s the unit of insulation resistance? |

rellefeh TTcRIY &l $ohrS 8-
A Ohm | 3

B Kilo ohm | Torell 3eH
C  Milliohm | f&elT e
D Megaohm | HIT 3EH

14 Which electrical device is the coarse excess

current protection? | WW%@HWW
AR URT HEToT &2

A Cartridge fuses | wﬁaq—'ag

B Rewirable fuses | JeT: R STH= AT F]

C  Miniature Circuit Breaker (MCB) | fRfAT=R
afdhe st

D  High Rupturing Capacity (HRC) Fuses | E‘I‘é
TR §TH T et

15 Which type of joint is used for extending the
length of conductor in over head lines? | fRRIAR

olTSeT 3 TTeTeh & oIF TS TaTol o] 1ohd Feh o SIS
39197 R S 87

Scarfed joint | THTHS S

Aerial tap joint | TRUS ST A5

Britannia T joint | feerfaar T Sits

Western Union joint | Wﬂﬁﬂﬁa’l’s’

o 6o v >

16  Which type of soldering flux is used for
soldering aluminium conductors? | U?g'&ﬁﬁ?lﬁ

dTefehl T AT et 8 Fohd TR & TesRaT

TFelSF ST 19T fohaT ST 82

A Tallow | &t

B  Ker-al-lite | $h-3Tel-oll8C

C  Zinc chloride | STEAT FlR183

D  Sal ammonia rosin | TTel A AT TS
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17 Whatis the effect on molten solder due to
repeated melting? | ﬁaﬁgﬂﬂwaﬁra’mm
rereTsr @ &1 eI ysdr a2

A Tin content reduced | f&sT 3T 19T S &1 SATAT
3

B Lead content reduced | T T HTIT ol gF
EICIN

C Prevent slug formation | ToT3T &I eIl J U
aarg

D Uneven flowing in joints | SITST 9 37T
S8 g

18 What will happen to PVCinsulation in cable
carries excess current continuously for long period?

| SheTel o PVC FiTeleh ol T g1aTT, Afe; 3T tieh
R oIF s HHAY T S8l 38?

A Voltage drop increases | alect uTd ¢

B Voltage drop decreases | a’lmatraém

C Insulation resistance increases | w
gfRrer agam

D Insulation resistance decreases | w

gfarrer geam

19 Which method of cable laying is suitable for
congested areas? | Fhaol TSSTel &I anleT AT FATET

HehTOT &1 8] ST &2

A Racksin air | gaTH &

B  Duct pipes | 3&c Uls9

C Along buildings | $1d=1T & &I
D Directin ground | e ST&T 7

20 What is the name of the part marked X in UG

cables? | sﬂ'aﬂﬁ?’lﬁmﬁXﬁéﬁlﬁWWW
ERIEN

A Serving | gfder

B  Bedding | §f3ar

C Armouring | ITERET
D Lead sheath | oI5 efrer

21 What is the fault of U.G cable identified in the
circuit? | AT hael & fohd JehR & QY &1 AT
T ST Tehar &2

RN

Ground fault | H\Eﬂ'ﬁr
Short circuit fault | FIEWQTE.TGT
Open circuit fault | Q?DT»ITWE?IW

Weak insulation fault | cth\,ﬂ\I{ $dlelsh ay

O 0o ® >

22 Which part of the underground cable is
protecting the metallic sheath against corrosion? |

S{TAITC chelel # T HT 7T UTcal Sher<l Sl &7
J AT R?

Serving | gfder
B Bedding | §f3aT
C Armouring | JTARAT
D Lead sheath | g efrr
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23  Why the soldering iron must be kept into a
stand that not in use while soldering? | BT8Rl

AT I 3TN of el o AT T3 H FAT IGaAT
aIfge?

A It prevents burns and fire | Tg STelel UF 3T3aT
Y AT &

B To control the excessive heat | 3IfaRad FsaAT
1 Forife et g

C Tosave the time of soldering process |

TIes AT TishdT T HHY T B

D To save the operator from electric shock |

HlTeTeh i faegd giceh @ a9 8

24  Which type of wire joint is found in the
junction box? | STerelel STFd H fhE TR & dRT
SIS 9T ST &7

A Aerial tap joint | TRTT T A5

B Plain tap joint | I ¢T S

C Rattailjoint | {€CT A

D Married joint | #RE S8

25 What is the name of the joint? | 38 SIS &l
FATATH G?

Married joint | #RE 38

Scarfed joint | TS S

Western union joint | éﬁﬁaﬁaﬂa’rg
Britannia straight joint | fSeTf1ar T S8

o 0O w >

26 What is the use of Britannia T joint? |
forerferar 1 3Ts 1 a1 3uAleT 82

A  Extending the length of the lines | FIEFT@'
STFTS I FGTeT

B Inside and outside wiring installation | KIGIECT
3R s araRer Tnfaa ST

C Mechanical stress not required on conductor |
leleh IR ATk dlTd ITTLTh TgT
D Tapping the service connection from overhead

lines | WW@W@W%@W

27  Which type of soldering method is used for
servicing and repairing work? | gfafder ik
Raafier & & fore forg g 1 Aresfier iy
GANIT Y AT 57

A Dip soldering | BT @resRar

B Soldering with a flame | STl & AT Ales 3T
C Soldering with soldering gun | ATesRIT T h
a1y HresRer

D Soldering with a soldering iron | @resRaT
3T & 1Y HiesRar

28 What is the use of dip soldering method? |
o AresRer Afr s suator Far g2

A  Soft soldering | I8 AresRar

B  Piping and cable soldering work | tngﬁvm‘h
Sheol Aresiar

C Soldering miniature components on PCB |
Arrell # B¢ Al T AlesRer

D Soldering sensitive electric components |

HacaAelrer faege st T Hresiar

29 Name the part marked X of belted U.G cable.
| S¢S AT shalol H X & ST 79T T ATH

Jute filling | ICHT BISToiaT
Armouring | IARET

Lead sheath | o5 efrer

Paper insulation | PIITST FrdTelsh

O 6o v >
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30 Which insulating material is used as hot
pouring compound for making joints in

underground cable? | WWWWW
Shaol 7 318 AN T G STell AT g2

Polyamine hardener | giell 3TH gT8eX

Cast resin compound | ree 37 e
Bituminous compound | ﬁg’ﬁﬂﬂ'?ﬁﬁlﬁ?
Epoxy cast resin compound | TUTFY T
EEEIIEED

O 6 w >

31 Whatis the purpose of bedding insulation of
U.G. cable? | ${fH3T shalol 7 STSaT T AT 38T &2
A Protect the cable from mechanical injury |
Shelol T 7T &TTcl I FaTeIT

B Protect the cable from moisture and gases |
Shelol T AIHT U9 3 & I

C Protect armouring from atmospheric condition
| 3TARET &t agHs e Rt & s

D Protect the metallic sheath against corrosion |
enfcaeh shad T &ROT I ST

32  Which test is conducted to locate the faults in

U.G. cables? | aq,ﬁwaarslaa;mm%a’ma#
AT fRaT ST EaT 872

A Looptest | FIHEF‘I

B External growler test | ST AFHeR ¢TC

C Break down voltage test | sieh 3137 Alecol
ST

D Insulation resistance test | Wm
ST

33 What does the number 1.40 represent if a
stranded conductor is designated as 7/1.407? | gfe

Teh §U TTefeh 1 7/1.40 asfa frar srarg, ar
1.40 FATGRATATE?

A Area of cross section | WHWHWW
B Radius of one conductor | Teh dTeleh T =T
C Diameter of all conductor | Teft aTeteht T
g

D Diameter of each conductor | Tcdeh dTeleh &l

22185

34 What is the value of electrical conductivity of

aluminium conductor? | U@WW@'

ATeTehdlT 3T T HATA &7
A 61 mho/m
B 56 mho/m
C 35mho/m
D 28 mho/m

35 What s the rating factor of cable provided
with coarse excess current protection? | heol T

s1fere sifafiard o geeT & fore awr T Fra

FATE?

A 111
B 1.3
c o081
D 0.707

36 Whatis the size of neutral conductor
compared to phase conductor in U.G cable? |

HIAIT helel # 3GTHIeT TTeTeh T TR Tl TTeleh
I Tl A

A Same size of phase conductor | %ol dTeleh &
AT

B Half size of phase conductor | %eT dTeleh &
3T

C 1/4 size of phase conductor | WW‘H’W
BIEIES

D 1/3size of phase conductor | eb_al'?-l'lﬂ$3|?l'

u fETs

37  What is the name of the tool? | 3 3SR &1
FT ATH g7

A Cutting plier | &3 ToR—X
B Wire stripper | /R feuX
C Crimping tool | ﬁs&cma;a
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D  Side cutting plier | T3S HiEdT CATAT

39 Whatis the reading of the micrometer? |

A 505mm
B 5.00mm
C 4.5mm
D 4.05mm

40 Which method of soldering is used for
repairing the vehicle body? | ama’r#ra‘fé’rasgw
¥ W B Fer o fafey e Fr s 2

A Dip soldering | 39 ElesRaT

B Soldering with flame | SaTelT & ATY s RAT
C Soldering with soldering iron | BTe8RAT 3RRA
& 1Y HiesRar

D  Soldering with soldering gun | GTesRaT I &
Y AresRar

41 What is the advantage of stranded conductor
over solid conductor? | @?WW&?W

Y Tl & FT 18T 82

A Costisless | e AT

B More flexible | 3778 or=frarr

C Lessvoltage drop | FH dlec ol uTd

D More insulation resistance | aﬁaw
EIGE)

42 What s the current capacity of the 16 Amp.
Cable, if it is protected by coarse excess current

protection? | 16 A el Sl YIRT &THAT T &, AT,
g 31T JTTARFT URT &I SaRT W& 82

A 11A
B 13A
C 15A
D 18A

43  What is the unit for Quantity of electricity? |

fSTely Y AT & AT 51 FAT B
A Mho | Fgr

B Coulomb | %ellH

C Volt /second | diec/Aq$s

D Ampere/second | UTFIIR/THS

44 What is the name of the soldering method? |

Areser A Fr AT AT g?

Dip soldering | 3T AlesRaT

Soldering iron | ATeaRAT 3IRA

Soldering gun | BTe8RA3T 3T
Soldering with flame | SATeIT 3 AT ATes Rl

O 0o ®w >

45 What formula is used to find Electro Motive
Force (EMF)? | Taegcl aTgeh &t <Tcl et 8] v
T 3TN Feh T ST 82

A EMF = Potential difference — voltage drop |
EMF = TA#aled-alecst arid

B EMF = Potential difference + voltage drop |
EMF = [A#TaTea+alecst ard

C EMF = Potential difference + voltage drop/2 |
EMF = A¥aleai+alec sl 91d/2

D EMF = Potential difference + 2 x voltage drop |
EMF = fa8TaTeaR+ 2 x aledot U1

46 What is the current rating factor for close
excess current protection of cable? | Shael Sl ITH

@TWWQTHTQFWWT%TWW
g?

A 0381
B 0.92
C 123
D 15
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47 What is the disadvantage of solid conductor
compared to stranded conductor? | 31 ATeldh Sl

T U ATeTeh T JoloAT 7 FAT g1 6?2

A Less rigidity | H PORAT

B Less flexibility | & eTiTelTdeT

C Low melting point | && ITeleTieh

D Low mechanical strength | & 1T ATFd

48 What is the name of the soldering method? |

TresRer RAf FrFar AT 82

A Dip soldering | 39 ElesRaT

B Soldering with blow lamp | el ofT & IT2r
HresRar

C Soldering with soldering gun | BTe3R3T 3T &
Y AresRaT

D Temperature controlled soldering | AT9HTT

[CRIECKIICEIT

49 Whatis the cause for cold solder defect in
soldering? | ATe8TRAT & &3 HIesT 1Y ol HIROT FIT
e?

A  Excessive heating | 37ca ¥ FsHeT

B Insufficient heating | 379aTcd ST
C
D

Incorrect use of solder | TTea T ITeld TAT
High wattage soldering iron | 3Td dIc

AresRaT 3IRRA

50 What happens to the voltmeter if it is
connected as an ammeter? | T gIdl %’, gfe

ITecHICT Sl IHTCT T TRE SIIST ATT?
Low reading | WW

No deflection | aﬁéﬁwaﬁr
Meter burns out | FeX STel SITAT
Overshoot deflection | 9X fTaaeleT

O 0o w >

51 Which is the example for coarse excess

current protection? | 3718 AR URT e

€ T 3STERUTE?
A MCB
B MCCB

C H.R.Cfuses | H.R.CHIS
D  Rewireable type fuse unit | Ja: dR SrereY
AT YT SIS

52 Which conductors are used for distribution

lines? | faTAR oSl & fIT IA-AT Feseex
3T gIdT 87

A Insulated conductors | sr{gﬂés FesFey

B Insulated solid conductors | ﬂﬁ?‘s’ﬂlﬁl—s’
FosacH

C Bare conductors | SR HesFed

D Two core cable | &I &R heel

Answers:

1-C|2-D|3-B|4-D|5-A|6-A|7-C]|
8-D|9-B|10-B|11-A|12-D|13-D |
14-B|15-D|16-B|17-A|18-D | 19-B |
20-D|21-B|22-B|23-A|24-C|25-A|
26-D|27-C|28-C|29-C|30-C|31-D|
32-A|33-D|34-C|35-C|36-B|37-C|
38-C|39-C|40-B|41-B|42-B|43-8B |
44-C|45-B|46-C|47-B|48-D|49-B |
50-A|51-D|52-C|
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1 How many electrons are there in the third cell
of the copper atom? | Hﬁa?wa??ﬂ@a?ﬁﬁ

[EROECCAD I kS

A 38

B 13

cC 18

D 29

2 Which is the semiconductor material? |
e ey HiT ATE?
A  Eureka | ZBW

B Ebonite | Qalﬂléa

C Manganin | H=anfaeT
D Germanium | SIHTATH

3 What s the indication of neon polarity
indicator used for checking A.C. supply? | s1geT

$JeTcTT Heheleh ST AC 3Tl STTeTct HHY Heel T
BT g

A Both electrodes will glow | AT Sl&FEIS STl
J

B Only one electrode will glow | hdel Teh

Solerels Slelcl &

C Both electrodes will be flickering | &A1

SoleFeIS THS &

D One electrode will glow and another will be

flickering | Teh Folerals STelall 3R GERT THehaT

4  Calculate the electrical energy in unit
consumed by 500W lamp for 5 hours. | 500W &g

a#sd%amﬁwﬁagamﬁ@rwaﬁuﬁtﬁ
IGEIGIY

A 0.5unit
B 1.0unit
C 15unit
D 25unit

5 What is the value of hot resistance of a bulb
rated as 100W/250V? | 100W/250V & 1¢S Tod &

T UTARIET ST AT FIT gIIM?
A 31.250hm

B 62.50 ohm

C 312.50 ohm

D 625.00 ohm

6  Which law states that in closed electric circuit,
the applied voltage is equal to the sum of the

voltage drops? | ieT &T fTgd FedT &, fh &g
e aRTY # oeTr a7 dled o, dledst aTd &
19T & SIS gT g?

Ohm’s law | mﬂﬁ'&ﬂ'

Laws of resistance | ITa1eT & e
Kirchhoff’s first law | Toh<aIt T Ugell fo1TeT
Kirchhoff’s second law | ﬁ»‘{—nl’lﬂ?a:re,\ﬂv
o

o 0o v >

7 Calculate the total power of the circuit of two
lamps rated as 200W/240V are connected in series

across 240V supply? | 200W/240V & & ofT 240V
3MYfet & AN & 3 §UE; Fel A AT RS
A 50W

B 100W
C 200W
D 400W

8 What is the formula for the equivalent
resistance (Rt) of the three resistors Ry, R, & Rs are

connected in parallel circuit? | Tfe et FTARTET Ry,
R; & Rs AHTecR ARTY H 3 &1, Y el ToRIe AT

RT= R1+R2+ R3

o 6o w >
2
n
|
+
|
+
|
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9 Whatis the reading of ohmmeter across
opened ‘R2’ resistor? | WWW@
U R2 FTARTET TR AT g1amT?

TPRT "

[— A 1

A Indicate zero reading | R[= l-||Q€4i<=h X Hohd
B Indicate infinite resistance | 3ed JT&dTeh U
TJohd

C Total resistance value of the circuit | IR &7
el TTAET ATl

D Value of sum of the resistance of R1 and R3

only | R1 3R R3 9fcRTYT & 9T &7 AT

10 What s the change of resistance value of the
conductor as its diameter is doubled? | TRIT ATl

& UfeRTY 3 T IR 819, Jfe; 3T ST i
QITAT Y T ST

A Increases to two times | Eﬂ?lFITHEFEIT:EGﬂ'a?H
B Decreases to four times | awagmwwg’r
EIRE]

C Decrease to half of the value | 38T deh & &1
EIRE]

D No change in value of resistance | ITaRIeT &

1S gRadeT e grem

11  What is the name of the resistor? | ITARTeT T
FATATH §?

Metal film resistor | %ngrﬁmwﬁmv
Wire wound resistor | Hﬂaﬁgﬁ'm
Carbon — film resistor | FIeleT o FTaRrer
Carbon composition resistor | Fra AT

O 0O w >

gfaer

12 Calculate the resistance value of the resistor
by colour coding method. | @TG{:T%@TQ?E\HIII

GfaRIer ST AT AT

23x10°W £ 5%
26 x 10° W £ 10%
32x10*W £ 10%
37 x10*W £ 5%

OO w >

13  Why the ohmmeter is graduated with non-

linear scale?| 3EHHAIEI Pl 3IRWTT hed H FIT
ST [T ST gehar &2

o OHMD a o

A Voltage is directly proportional to resistance |
AN, TR & EHTATC

B Current is inversely proportional to resistance |
&R, TR o egcshATeUTe &

C Resistance is inversely proportional to the

square of current | AR, URT & TeT H
CO o) %

D Voltage is directly proportional to the square

of the current | @lecal, %rma:a?‘ré;mgm?ﬁ%
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14 Calculate the value of unknown resistance
‘RDC’ in the Wheatstone bridge network, If PAB =
500w, QBC = 300W, SAo = 15W, at balanced

condition. | mﬁaﬁé@?@rmﬁ
37ATT ITFARTET ‘RDC’ T AT AT hifoTd, ST PAB =
500Q, QBC = 300Q, SAo = 15Q &

o6 w >

17 Calculate the value of resistance ‘R2’ in the
parallel circuit. | FHTEAR IRIY F R2 T AT AT

15 Which material is having negative
temperature co-efficient property? | g uerd &

HOTcHeh ATIHTe I0Tieh T I[0T Il &2
A Mica | IdH

B Eureka |z|3$r

C Copper | dT&T

D Manganin | #eamfaet

16 What electrical quantities are related in
Ohm’s law? | W%Wﬁm@aﬁa\gﬁ
TRt AT A E?

A Current, resistance and power | 9T, gfaRIer
Tq erferd

B Current, voltage and resistivity | €T, drecal
AR gfaRrerear

C Current, voltage and resistance | &I, areeot
AR gfady

D Voltage, resistance and current density |

aArecs, 9faer 3R &Ry eeTar

EAIc R
1=150/ I |_|R3:30 I
A 20
B 40Q
C 6Q
D 80Q

18 What is the effect of the parallel circuit with
one branch opened? | W%ﬂ'@Tlg?ﬂ'?lﬁW

AT IRUY H T I47d grem?

A Current will remain same | $TRT GHTT =T
gafr

B  Whole circuit will not function | ql\Tl'tlﬁ'cl?I
T TET HYaTT

C No current will flow in that branch | 39 1T

H URT LT Fgal
D Voltage drop increase in the opened branch |
Gell AT H dlecs T §¢ SR
19  What is the unit of resistivity? | IfaRIerehar
Hr FATSHIS &2
ohm / cm | 3EH/Q#T
B ohm/cm? | 3EH/AHR
C ohm-metre | 3EA-HX
D ohm/ metre | 3EH/H
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20  Which type of resistor is used for Arc
guenching protection in circuit breakers? | gfee

ST # 31Teh QTHT GR&T o foIT v Toh o
ST ST 39T fhar SATaT 82

A Varistors | aREX

B Sensistors | Hf@FX

C Thermistors | yfFTex

D Light dependent resistor (LDR) | W%ﬁgﬂ'

e

23  What is the reading of the voltmeter V? |

21  Calculate the value of resistance by colour
coding method. | 33T &e fafer & garT wfcRier &r

AT TATST

22 x 10+ 10%
23 x10* + 10%
25x10%+5%
36 x 10* £ 5%

OO w >

22  Calculate the unknown resistance “Rpc” in the
Wheatstone bridge circuit, if PAz=400 ohms,
Qgc=200 ohms and Sap=12o0hms at balanced

condition. | deFeleT forst Y HJolel T JraeATH
37T TARIET ‘RDC’ ST AT AT hITTY, ST Pag =
4000, Qgc = 2000, Spp = 12Q &

OO w >

dlecHICT V T 96T ddI3U]|

S
o @]uﬂ
+

o

A 0V
B 6V
cC 9v
D 18V

24  Which is the application of series circuit? |

Aol 9RO &7 1 39T g7

A Voltmeter connection | dieeHIeT AT

B Lighting circuits in home | ERT & YanTeiir
qROY

C  Shunt resistor in ammeter | 3TTHET H 2T
gfaRrer

D  Multiplier resistor of a voltmeter | @ieeHIeT
T AT S

25 What is the effect on opened resistor in series
circuit? | WWﬂ@g@mww
THT g7

A No effect in opened resistor | qﬁmﬁ
IS THTG el

B  Full circuit current will flow in opened resistor |
Gol Ffcrer & @ qoT gRuy Ry a8l
C Total supply voltage will appear across the

opened resistor | @Q?Tmagaﬁaﬂ?iﬂ
3l areest fawem

D No voltage will appear across the opened

resistor | @m%mmaﬁémﬂﬁ
e
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26 Calculate the resistance value in R resistor. |

R; FfcRIeres & 9iaRe &1 AT 93T
=
" oo
)
-l oV -
A 40hm
B 60hm
C 80hm
D 12 0hm

27 What is the effect of the circuit, if ‘ab’ points

are shorted? | IR T AT Y319 g1, ITS 'ab’
ol TEAT Y fear ST |

— O
B O [ [

A Circuit resistance will be zero | IRTY gfaRrer

32T &Y ST
B Same current will flow in all branches | &Y
ATETHT H AT YT Sgai

C  Supply voltage will exist in each branch | EED
TET H 3Tt aYeesT g

D Total circuit current is equal to each branch

circuit current | SWWQI‘ZIRTW QITET URT
AT gt

28 What is the name of the resistor if its
resistance value increase with increase in

temperature? | fe ATIHTT # g o AT SHAT

ST AT 6T &, Al TR &1 STH FAT 82

A Varistors | aRETX

B Sensistors | Hf@FX

C Thermistors | uffTeT

D Light Dependent Resistor (LDR) | W%ﬁé’d

FaE

29 What is the formula for Quantity of electricity
(Q)? | Taeg e AT 7 7 FAT8?
Current x Time | YRT x §HT

B Voltage x Current | dlecol x &RT
C Current x Resistance | &TRT x SISELNS
D Voltage x Resistance | dlecal x FfaRYy

30 What s the unit of conductance? | dTelehdl
$r ghS FATE?

Mho | FgY

Ohm | 3&d

C Ohm-m | 3EHA-HAX

D Ohm/m | 3EA/HAIX

31 Which one defines the change in resistance in
Ohm(Q) per degree centigrade (°C)? | 3TgH 9T
3l €&rs (¢ ) F yfaier 7 aRadel &t et @r
AR T 82

A  Temperature effect | dT9HTA AT

B Laws of temperature | dT9HT & S

C Temperature constant | dT9HTeT IGEGIED

D Temperature co-efficient | 9 AT 3[0Teh

32  Which type of meter is used to test the

polarity of battery? | Wﬁ%ﬁ?ﬂmﬁ%m
fore v &t #Hiex et R STaT 82

A Moving iron ammeter | Tl dllg 3T#HIEX

B Moving coil voltmeter | WWW
C  Moving iron voltmeter | T olig dlecHeT

D Dynamo meter type wattmeter | SIBAHTHEI
JehR bl dTCHIEI
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33 What s the voltage drop in resistor ‘R;” in the

series circuit? | A0 aRTY 7 Yfays R, H alecst

9Td HATeI ddTST
'r,mn 'gzam
_J J

£

, Y {

=5
1 1
| S| | S|
RXo R0

A 5volt

B 10 volt

C 15volt

D 20volt

34 Which is the application of series circuit? |

Aol IRYY T FIT 3YTET 82

Fuse in circuit | Wﬁ'qrq\?

Voltmeter connection | dlecHe arole
Electrical lamp in homes | Wﬂ'ﬁ?@?—fﬁq
Shunt resistor in ammeter | A H LT
EIGRISED

O O w >

35 Which method is used for measuring 1 Ohm
to 100K Ohm range resistance? | 1 37&H & 100K

3NEH Teh AT & hleT A1 TATRY b7 3uritar femam

ST E?

A Substitution method | Ifaeamae fafer

B Kelvin bridge method | Hfeas feet fafer

C  Wheat stone bridge method | gleEelst fsiar
fafer

D Voltmeter and ammeter method | drecHIex
AR TA Al

36 What s the S.I unit of specific resistance? |

faferse gferie fr si shs FaT8?

A Ohm/cm

B Ohm/metre?

C Ohm-metre

D Micro ohm/cm?

37 What is the value of resistance of the resistor?

| SfoRTee & GTRIer T T AT g2

ORAMEE ORANGE RED SLYER

330 £ 5% Ohm
3300 + 10% Ohm
33000 +5 % Ohm
330000 * 10% Ohm

OO w >

38 What s the purpose of the shunt resistor ‘R’
used in series type Ohm meter circuit? | H0 Yah X

& 3eA e a9y 7 e GfaAET R, ST FIT
39T E?

4
-
ko]

() % o e

Iy E B
I¥ P

SERIEY TYPE OHERETER
A To limit the current in the circuit | IRIT &

RT ST HTAT HLT

B Toincrease the value of meter resistance |
HIeX 9faer & AT I 1T

C To adjust the zero position of the pointer |
Tehcleh T Y FEAT Y FHTST FTAT

D To prevent the excess current in the circuit |

gRay &7 faRed 4RT & Ashar

39  Which electrical quantity affects the heat

generated in a conductor? | ﬁﬂ@'ﬁ@?ﬂ'ﬂ'ﬂﬁf
ATeleh H FSAT 3cTeo] ol JHTTAd il 67

A Voltage | @recat

B Square of the current | R ST gaT

C Square of the resistance | IfaRTer &7 a7

D Current passed through it | W%T%HURT
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40 Whatis the change in value of resistance of
the conductor, if its cross section area is doubled? |

YTeTeh & FTAET & AT F T IR IdT &, 39T
SHRI HTTEY FHIC ETDel QlILAT &1 STl &2

A No change | ﬁétrﬁaé?raﬁr

B Decreases 2 times | a’rﬂmms’rm%

C Increases 2 times | a’rﬂmms’rm%

D Decreases 4 times | W?’lFITEI'TFTGTE'IHT%’

41 Calculate the voltage drop across the resistor

‘R4’ in the circuit? | IRIY H IS R4 R

Aot 9Td &hl IT0TAT Tty |
R3601 Ry=00 ReG0P
) L S—
L
Rya00
L¢C L-O
20V -~
A 48V
B 72V
C 80V
D 100V

42 What s the resistance of Light Dependent
Resistor (LDR), if the intensity of light is increased? |

airse f3use IATex &1 ufaRry &7am glem, Ife; gehrer
EIRIERIC AR IR E

A Increases | §&3TT

B  Decreases | 3T

C Remains same | EHTT TG

D Becomes infinity | 37c &F STTIAMT

43  Which formula is used to calculate the power

of a DC circuit? | a8y aRT 7 erferd i arorar
el I FATHA &7

Voltage x time | ool x T

Current x voltage | &RT x @lecol

Current x resistance | &IRT x gfaer
Voltage x resistance | @lecol x IaRIeTr

O O w >

44 Calculate the hot resistance of 200W / 250V

rated lamp. | 200W / 250V ¥&3 oI & 3187 wfaRrer

T ITTAT Y|
A 31250
B 6250
C 3125Q
D 625Q

45 What is the value of resistance in an open

circuit? | Wqﬁﬂﬁﬁ:ﬁmwmwﬁ?

Zero | AT
B Low |hHA
C High | 3f®s

D Infinity | 3159

46  Which resistor the lowest current flows in a
parallel circuit having the values of 50 Q2, 220 Q,

450 Q and 560 Q connected with supply? | SHTeAX
qiRTA A 35 §T 500, 2200, 450Q FAT 5600
gfeRIet 7 & ford IfaY & 98 H YRT dg1d

gram?

A 500
B 2200
C 4500
D 560Q

47 What is the specific resistance value of copper
conductor? | AT dTeleh &l fATRISE YTARIT AT
FATE?
A 1.72 0hm/cm?

1.72 Micro ohm

B
C 1.72 Micro ohm/cm3
D 1.72 Micro ohm/m

48 Which is inversely proportional to the
resistance of a conductor? | ATeleh o YTaeT &

G cohHTTITC T EIclT 82

A Length | FI?-_clTé

B Resistivity | IfaRIerehdr

C Temperature | d9HTT

D Area of cross section | WQIWWW
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20-A|21-C|22-B|23-D|24-D|25-C|

Answers: 26-D|27-A|28-B|29-A|30-A|31-D|
32-B|33-B|34-A|35-C|36-C|37-B|

1-C|2-D|3-A|4-D|5-D|6-D|7-B]| 38-C|39-B|40-B|41-D|42-B|43-B |

8-D|9-B|10-B|11-B|12-B | 13-B| 44-C|45-D|46-D|47-C|48-D |

14-B|15-A|16-C|17-C|18-C|19-C|
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1 Calculate the total capacitance value in the

circuit. | W@rgwmrrﬁw@rwm@ﬁﬁ

apF 100F anpF
I Il I

A 0.16 uF
B 6uF

C 30pF
D 70uF

2  What is the unit of capacitance? | TYUTRET 1

TS FATE?

A  Mho | FgY

B Henry | %ﬂﬂ'

C Farad | 1S

D Coulomb | Gelld

3 What is the capacitance value of a capacitor
that requires 0.5 coulomb to charge to 35 volt? |

Teh FETRA ST UTRAT ATl 4T g19T, ATE 35 tee
fIT 0.5 el TR T ITITRIRAT 812

A 0.014F
B 0.025F
C 0.14F
D 0.25F

4  How the value of capacitance can be

decreased? | GUTRAT & AT T H& FHa hIAT ST
Hehell §?

A Increasing the plate area | Tolc &T%dl &l
delehl

B Increasing the resistance of the plates | Tolel &

GTARTEr ol FaTeh

C Increasing the distance between the plates |
Tolel & HEY Y TaTeh

D Using high dielectric constant material | 3©d

WRITdegd @arcish Tere &1 3uaT dtch

5 Which is the diamagnetic substance? |

TRIFehIg Tery i #rg?
A Air|ag

B Steel | SEUTd

C Water | Sl

D Platinum | Tolfeas

6  Which factor affects the polarity of the
electromagnet? | WWWWW@'

YT T THTTAT AT 87

: Length of the coil | ivSoTl Fr oid-sllé

B Direction of current | &RT T T2

C Strength of current | &IRT &1 eTfFd

D Strength of the magnetic field | Wﬁ?
& aferd

7 Whatis the unit of Magneto Motive Force
(MMF)? | FehI aTgeh ScT T AT SIS &2
Ampere / m? | TFAI/H2

Ampere - m | TFIIL-HY

C  Ampere - turns | TFRR-&=8

D Ampere/turns | TFOIT/ee

8 Whatis the total inductance if 3 inductors (L1,
L2 and L3) are connected in series? | AT 3 Uehcd

(L1, L2 31 L3) 5@l & 3 §U & df ool 9ehed 41
g2

LT=L1xL2xL3
LT=L1+L2+L3

IT=—4—+—
Ly Ly L

O 6 >

IT=———
Li+Ly+L3

9  What is the unit of permeance? | IRIAIT Fr
SIS FATG?

A Ampere - turns | TFRR-Te

B Weber/Ampere turns | 38/TFIRR-Cod

C  Ampere turns/Weber | TFIRIT-c=d/de}

D Weber/Square metre | d&X/HTeI2

10 Which rule is applied to find the direction of
magnetic fields in a solenoid coil? | TR=ATTeIeT
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sell H gy &1 T e @istel & fere st ar
[GRECIENERIKICIEE

A  Corkscrew rule | aﬁé:@ﬁw

B Right hand palm rule | &TfgsT T ST g2l T
IGRE]

C  Flemings left hand rule | FI AT 7 STAT BT
CONCDE:

D Flemings right hand rule | FATRT 7 STt 81T
CONCDE:

11 Calculate the total value of capacitance of

series capacitor circuit. | WW@'@W
HETRAT I I0TAT RITSTS

Ji|F--2e s
| 1
A 4ufd
B 10ufd
C 15ufd
D 40ufd

12  What precaution to be taken before
connecting the different voltage rating capacitors in

series? | mﬁﬁfﬁr—«raﬁm?ﬁwmaﬁ
SISl @ Ugel AT HITHTAT SRl STedl AT T?

A  All the capacitors must be same manufacturer
| F8f A T g AT & gl TrfeT

B Each capacitors voltage drop must be less than

its voltage rating | mes\hsﬂﬁ
alecot eI A HF gl TIfgw

C Total capacitors value must be less than the
lowest value of capacitor | WWWW
FUTRA & fAFAad AT § A glar Aifew

D Break down voltage of each capacitor must be
same | Icdeh TUTRA ST ShaI3e dlec ol HHT

gt A1feT

13  Which material is the paramagnetic

substance? | aﬁamw&aﬂgﬁmm#
Cleat wiring | Felte arafRaT

Copper | dT&T

C Bismuth | fS&aYr

D Graphite | AHISC

14 What s the part marked as X in B.H curve? |
B-H dsh H X GaRT 3iehc H19T &1 FATH SdT9T
f

A  Coercivity | Frofafadr

B  Saturation point | H?(I"chﬁg

C Magnetizing force | Waﬁ

D Residual magnetism | HHQTGI'?:P-_@IW

15 What s the similar term in magnetic circuit
for “conductance” in electrical circuit? | ﬁ?{ﬂﬁ

ARy & "HTeThdl" & T Yoehid Hiche H FATT
oreg FAT E?

A Reluctivity | Reaéraer

B Permeance | RAIT

C Reluctance | Rerecq

D Permeability | RAATSTET

16  What is the unit of Reluctance? | Retae®d Fr

TS FATE?

A Weber / metre?

B Weber/ metre

C Ampere turns / Weber
D Ampere turns / metre?
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17  Which is the correct expression of capacitance
C if the electric charge is Q and the voltage is V? |

e faegd 3maer Qg iR aleest v e, ar e c

$r gy fAcaFa Far g
A C=QNV

B C=V/Q

C Cc=vQ

D C=,VQ

18 How can you increase the pulling strength of
an electromagnet? | WWWW@T

irel I dTehdl 8 96T Hehdl &7

A Increase the field intensity | & T digdl SGIT
B Reduce the current in the coil | i%@'ﬁah_{?
FA B

C Reduce the number of turns in the coil | iﬁ?ﬁ'
3 et i e

D Increase the B-H curve of the material | gerey
& §1-Ud Ish &l 610

19  Which defines the flux density is always
lagging behind the magnetising force? | FeldFd
Felcd AT JFhIY oof & U1 @l &, foharent
gRATNT AT 8?

A Hysteresis | gEe @@

B Magnetic intensity | W?ﬂﬁ?ﬂ

C Magneticinduction | WQTUT

D Residual magnetism | HHQWW

20 What s the effect on surrounding metal
placed in a magnetic field? | Wﬂ?ﬁ?’@ﬁ'?@
3TTEYTH T 7] IR T T I3l &2

Hysteresis | g€ @d

Skin effect | cddT YATd

Eddy current | $7aX 9RT

Dielectric stress | CITIﬁE‘[{I)FTFIHI'a

O 0O w >

21  In which device the air capacitors are used? |
aTg WA T 3TN fohd 3TehToT A T ST
g?

A TVtuner | a—cﬁi‘ﬂ;ﬂ?'

B  Oscillator | Greleh
C Loudspeaker | €afay-TAEdRs IF
D Radio receiver | ¥3f3aT RATAER

22  What will happen, if the polarized electrolytic
capacitor is reversely connected? | H’%{W

oI Ieeh HUTRT faodid & & 31 g3 &, ot
FITGIA?

A No effect on the capacitor | HﬂTﬁ?Waﬁé
JHTT T

B Explode due to excessive heat | 37T AT
& R faEmie

C Currentis reduced in the circuit | IRTT H YRT
HHA G ST &

D Value of capacitance will be increased |

l:lbﬂliial Tl AT SGTT SITUIT

23 Which is the diamagnetic substance?
RIFShTY Tery sl &1 g?

Wood | elehar
B  Nickel | IGET)
C Platinum | coifeas
D Manganese | HarlreT

24  What is the S.I unit of Flux density? | Feldrd
HeTcd I S| SHTS FAT?

Tesla | CEell
B Weber | dsRX
C Weber/metre | ds¥/FHIcT
D Ampere-turns | TFRR-Ee
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25 What indicates the shape of a BH curve
(Hysteresis loop) of material? | Yerey T B-H I

(fRe R o) & 3R T et 82
A Reluctance of the material | gery T Nl
B  Field intensity of the substance | geryy fr &y

GIEGL
C Magnetic properties of the material | gerey dr

EIhIY faRIvcTd
D Pulling power of the magnetic material |

ﬁa@wamﬁr@mﬁw@’iam

26  Which electrical quantity is directly
proportional to the eddy current? | aﬁﬁﬁr%aga

AT EE 3 URT & FATATH Bl 62
A Voltage | dlecat

B Current | &TRT

C Frequency | 3-11?1%[

D Resistance | 9faRrer

27  Which is the cause for changing the
permeability? | RIEATITAE & gRafda gl &r
FIAT HFROT§?

A Length | FI?%I'Ié'

B  Flux density | FelsFH Yolcd

C Field intensity | &3 digdr

D Magneto motive force | WWW

28  Which type of capacitor is used for space

electronics? | fohd TehIR T TR 3ARET
Solaeifoalard o Tl 3UANIT fHaT ST 872

A  Plastic film type | Cellf&ceh fthed Tk

B Ceramic disc type | A fBFs &

C  Electrolytic-Aluminum type | Wﬂﬁﬁ?ﬁ—
TegHIATH YR

[N
D Electrolytic-Tantalum type | 3aa:§|a|siéaa-
ETAH TP

29 What is the effect of the electrolytic capacitor,

if open circuit fault occurs? | Selarclesceh TUTRT
T THTS AT BT 8, 39N Goll TR &Y el 82
A It will not function | ?ZI%'EI'TI?fI'H'{ﬁ'EFQ?'IT

B It will burst at once | Ig Teh SR H He& SATTIT
C It will become leaky | Tg olieh 8T SITTIT

D It will function normally | Ig ITHT &9 &

R HLT

30 What will be the change in value of
capacitance if the distance of the plates are

decreased in the capacitor? | Tfe MR & Toler
T g1 e g1 ST &, A el o el & T
gRAcIeT gIIM?

A Becomes zero | %{I?J%TGI‘I’&TIT

B Remains same | HTT {83

C Decreases | EIWT?I?'IT

D Increases | SG3M

31 Which property of magnet is illustrated? |

FeIh S et AT TR Z2ATS 778 82

<>
<
s

Directive property | T2 faQrwar
Induction property | 90T faQredr
Saturation property | Wﬁ'%m

Poles existing property | %ﬁ'ﬁ?@’ﬁ@l’qﬁ

O 0o w >

32  Which is a paramagnetic substance? |

3T FhIT TeTd hisT AT E?

A Air | arg

B Steel | STUTd
C Glass | &I
D Water | Slel
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33  Which method of magnetization is used to
make commercial purpose permanent magnets? |

graehIehoT T fodt fafer 1 3uter arforfsas
302% ¢ TR oaeh Fallel & foIT fohar ST g2
A  Induction method | 9ROT fafer

B Single touch method | Toher T fafer

C Double touch method | Elgdr Tgey fAfer

D Divided touch method | TAHTTST et fiafer

34 Whatis the effect of inductance if the
distance between the turns increases? | If¢ '{I}I‘IT:IT

& S T g0 TEclT &, Al IROT T Jo7Td FAT8?
A Increases | ¥

B Decreases | €13

C Becomes zero | Q]EI%TGI‘I’QTIT

D Remains same | EHTA IgIT

35 What is the function of dielectric insulator in
capacitor? | Hmﬁ?rﬁwﬁag?rwa:rm
FATE?

A Increases the strength of capacitance |
FUTRdr 1 drehd ST g

B Prevents any current flow between plates |
ToleT o &1 fohdT 81 &R 94T &hf AhelT &

C Protects from short circuit between the plates
RGHE T ECIEERE R ECIR I

D Helps to hold the charge in capacitor for long

period | TUTRA & 31TALT FI oI AT deh IWA H
e FATE

36  Which factor is determining the value of
capacitance in capacitor? | FerR= & arRar & &
R T 5 ZaT YR BT 2T &

A Area of the plates | Tolel 3T &TA%eT

B Shape of the plates | Tolel &l 3R

C Material of the plates | Tolet T geryy

D Thickness of the plates | QET@"H’IE‘I@'

37 Which type of capacitors are used in RF
coupling circuit? | meﬁmw
& FETRA T 39T HAT ATAT 2

Tantalum | &&aTe

Monolithic | Aaafafdes

C Electrolytic | SolercIfaifea

D  Metalized poly propylene | &ITdshd

afehsarEeieT

Answers:

1-B|2-C|3-A|4-C|5-C|6-B|7-C]|
8-B|9-B|10-B|11-D|12-B|13-B |

14-A|15-B| 16-C|17-A | 18-A | 19-A |
20-C|21-D|22-B|23-A|24-A|25-C|
26-C|27-B|28-D|29-A|30-D|31-A|

32-A|33-A|34-A|35-B|36-A|37-B|
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1 What s the unit of susceptance? | ey &r

SRS FATE?

A  Mho | Fgr

B Ohm | 3eH
C Henry | go4r
D Farad | s

2 What is the resistance of the inductive coil
takes 5A current across 240V, 50Hz supply at 0.8

power factor? | Wi@?ﬁ'ﬂmwm,
ST 240V O 5A YR o, 50 o 3MYfc, 0.8 et

(0TI §?
A 480Q
B 4250
C 3840
D 2660

3  How the resonance frequency (fr) can be
increased in A.C series circuit? | A.C 30T RGY &
37eT+ATe, 3 e (fr) T Ha TGIAT ST Hehell &2

A Increasing the inductance value | URehed ATl
A

B  Reducing the capacitance value | FEmRAr AT
HFaAr

C Increasing the capacitance value | qerRdr
AT A

D Increasing the value of resistance | IfaRIeT
AT A

4 What is the formula to find 3 phase Reactive
power (PR) if the line voltage is V, and line current is

IL? | 3 Sl Rufdea 9rav¥ (PR) &l [Tt & forw

T G &, TG 15T dreca VIR asaT e 1L §?
A Pr:VL||_

B Pr=3V.I.CosH

C Pr = \/§V|_||_Sin9

D Pr=y/3 Vil.CosB

5 What is the main cause for below 0.5 lagging
power factor in 3 phase system? | 3 FelT YUTTell

RISl I[OTIh 0.5 TRTIMHT A A1 gl HET HROT
FATE?

A Due to fluctuation of voltage | dlecel & 3dR-
IEId & HROT

B True power due to resistive load | IfcaRegen
Y o HROT 3l AT

C Reactive power due to more inductive load |
3178 Ok AR o ShROT gfafshareirer afed

D Reactive power due to more capacitive load |

31T g IR & Rt yiafhaneie afea

6 What s the current in neutral conductorin 3
phase unbalanced load in star connected system? |

TR HANSIT AT & 3 Fhell I AR A
3ETEI ATeleh H URTFAT§?
A No current will flow | SIS ¢TRT 8T Sg3iT

B The algebraic sum of current in 3 phases | 3
HATHT H YRT T SN JaT

C The algebraic sum of current in 2 phases only |
Shdol 2 SHelTHT H URT I Sl JeT

D Lesserthan the lowest current in any one of

the phases | 31T H § fhdT & 98 7 YRT ST
Iofel H e

7 Calculate the apparent power in KVA of 3
phase 415V, 50 Hz, star system, if the line current

(IL) is 16A at 0.8 power factor. | 3 &hell, 415V, 50 Hz,
TeR Qe & Hdv & 3T erfera 6y aror=r
IS, I STS=T &R (IL) 16A & 0.8 AT a[uTieh
-

A 152 KVA
B 11.5KVA
C 9.2KVA
D 5.3KVA

8 What will be the readings of two watt meters
(W1& W2) in 3 phase power measurement, if the

power factor is zero? | 3 Foll TSoTell HATYT H & dTe
et (W1 & w2) Fr fifsar Far el afe grax theex
WAL?

A W1 & W2 both are positive reading | W1 3R

W2 Gt eelTcHeh ITgaish

B W1 is Positive and W2 is negative reading | W1
eITcH g 3R W2 FUTIcHS ITadTeh ¢

C Wi1isequal to W2 but with opposite signs |
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W1, W2 & sSRTeR &, olfeheT TAudia Gehal & arer

D Zero W1 is Positive reading, and W2 is negative
reading | W1 =3 H=llcH® ¢ 3 W2 FHUTTcHS
qredTeh §

9 What is the maximum value of voltage for 240
volt RMS? | 240 dlec IIRUHTH & folT dlecot &l

HTEIhH Hod T 57
A 240V

B 415V

C 3395V

D 376.8V

11  Whatis the formula for Reactive Power (Pr) in

an AC circuit? | AC Gfehe & Rufded 9rax (PR) T

T FATE?

A Pr=VI

B Pr=v2VI

C Pr=VlcosH
D Pr=VlisinB

12  Calculate the impedance of the circuit R = 5Q,
X=36Qand Xc=24 Q. | R=50, XL=36Q and XC =

24 Q g, dr 9y & gfderer & a7orar Hife |
o X X
3 M/'\n_{
4
B
>
g
A 690
B 65Q
c 130
D 120

13  What s the phase displacement in a single
phase AC circuit? | Tohel B AC IRIY H HellcdX

ERGIRGIEE
A 90°

B 120°

c 180°

D 270°

14 What s the relation between the line voltage
(VL) and phase voltage (V,) in star connected

system? | TR AT [ATeH H o5 dlecoT(VL)

JUT Tt dlecol(Ve) H TFaed I13T |

A V, =3V
V, = 3Vp
v, =%

D V,=Vp/3

15 Calculate the line current of the 3 phase 415V
50 HZ supply for the balanced load of 3000 watt at

0.8 power factor is connected in star. | 3000 dTC
eI #1R, 0.8 AT [UTieh R TR & HAISI 3
ell 415V 50 HZ 319 &; TSt YT &Y 07T |
A 85A

B 52A
C 45A
D 34A

16 Whatis the power factor in a 3 phase power
measurement of two wattmeters showing equal

readings? | cilel holl 2T ATIT H Gl aTc Hied H

AT {fST fe@et o rferd Iqotieh o &2
A 0

B 1

cC 05

D 08

17 Calculate the power factor of coil having
resistance of 24Q), draws the current of 5A, at 240V/

50HZ AC supply. | 240 TeRTE aTell el & AfeFd
ﬂvﬁ%aﬁrmaﬁlﬁﬁ, ST 5AZRT 9IRT, 240V/ 50HZ

AC 3] TR I -
A 08
B 06
C 05
D 03
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18 What s the formula to calculate the
impedance (Z) of the R.L.C series circuit, if the
inductive reactance (X.) is less than capacitive

reactance (X¢)? | 3IRTSHT IR & QTR (2) Shr
ATUTAT o] T G FT 8, Afe; YL FTTETeT (X,)
TR IfaeTd (Xo) T w82

A IR

p  Z=RFHXc-X()

19 Calculate the power factor of R.L.C circuit
having resistance (R) = 15W, resultant reactance (X)
= 20W connected across 240V /50Hz AC supply? |

gfaRIer (R) = 150, gRomHT gfderd (x) = 200 &
240V / 50Hz AC 3TT9fct & T3 R.L.C TRYY & rferT

pe]

A 05
B 0.6
c 07
D 08

20 Calculate the value admittance (Y) of the RLC
parallel circuit connected across 240volts/50Hz AC
supply and 8 Amp. Current is passed through it ? |

240volts / 50Hz AC 3Tl 31X 8 Amp &IRT JaTg aTel
T3 RLC FATAIR Afhe o AT TFAEH (V) Y
IOTAT Y | SHh ATETH T IC I fohaT SATAT 872

A 3.33Mho
B 0.33 Mho
C 0.033 Mho
D 0.003 Mho

21  Whatis the formula to calculate the line
current (l) of this single phase R - C parallel circuit?

| ThoT Fell RC AT TRIY H ATSeT TRT(1,) Fr
ATUTEAT it T HA B-

T

A ||_: IR‘ |c

B ||_: |R+ |c

C ||_= IRZ‘ |(:2

D ||_: \/(IRZ' |c2)

22 How the low power factor (P.F) can be

improved in AC circuits? | T IRTY & HaT ATFd
I[0TIeh (P.F) T H8 dEcR ST SIT Hehell &7

A By connecting resistors in series | gfaRret ar
Ao A g

B By connecting capacitors in series | FETRET &1
Aoy A g

C By connecting inductors in series | Uehcal hl
Ao A g

D By connecting capacitors in parallel | FeTRAET

P AT H ST

24 Whatis the relation between the line current
(I.) and phase current (lp) in delta connected

system? | ?RTQ}IEQ?@RFJ-&IHIBHW(IL) 3R

ol C (IP) o STT FIT HEIT g7
A |L:|p

B |L:3|p

C 1IL=+31

D I=1/V3

25 What is the purpose of phase sequence
meter? | ol eJshdl HICT I 38T FATE?

A To control the speed of 3 phase motor

B To protect motor against short circuit fault

C Toindicate the incorrect phase sequence of 3
phase

D To ensure the correct phase sequence of 3
phase system

26 Calculate the apparent power of a star
connected 3 phase load, if it is connected across 3
phase 415volt/50Hz supply at 0.8 p.f and the phase

current is 10 Amps. | Teh T€R @33?3 Foll AT T
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STTHTEY QIfeFd T IUTAT Y, 3R Tg 0.8 ATFd
AUTeh IX 3 &ell 415volt / 50Hz 3TYfel & o7 & 3R

BT ART10A &
A 12.45KVA
B 57.50 KVA
C 3.320KVA
D 7.188KVA

27 What s the P.F if one of the wattmeters
reading is zero and the other reads total power in 2
wattmeter method of 3 phase power

measurement? | 3 &oll ATFd ATT H 2 areHeT
fafer & & & I veh e areaTh 81 3R @ FHel
QU UI&ATeh g, Al ATl I[0TTeh T &2

A 05

B Zero

C Unity

D Below0.5

28 What s the formula for form factor(Kf)? |

I there(Kf) T G T 52
A _Averagevalue | k- 3igret HIeT/3RUHATH
" RMSvalue

B K,—_rMSvalle ¢ smuareq AE/sitEa
Averagevalue

HTleT
Maximumvalue

c K= Averagevalue | Kf=3TReherat HTet/3ad

HleT

K. — RMS value ~
D % = Vaximumvaie | KF=3TRUHATH
AT/ 3R AT

29  Which electrical term is defined as the total
opposition to current in AC parallel circuit? | THY

AR IREY F URT o ol [0 & &9 o
faege eree 1 aRen Y forar SeT &2

A Resistance | 9faRTer

B Impedance | 9fcamerm

C Admittance | TsfAcH

D Susceptance | G¥EH

30 Which AC circuit contains the phase relation
between voltage (V) and current (1)? | & AC

gRay #F atec s (V) 3R ae (1) & ST FT T
HET BT 8?

/N
SRV

A Pure resistive circuit | e;a;r%ﬁ%frtrﬁcrzr

B Resistance and inductance circuit | 9TaIer T
Wehcd IRTY

C Resistance and capacitance circuit | gfaRrer va
TR IRIY

D Resistance, inductance and capacitance circuit

| 9faRIET, SRehcd Tg ey aRar

31 Ina 3 phase system, if the active power is 4
kw and the apparent power is 5 KVA, calculate the

reactive power? | 3 ol YuTTell &, Ife @fehT AafFa
4 kw g 3T 3THTEY feFd 5 KVA g, df gfafsharefier

QT &Y ITOTAT 2
A 1KVAR
B 2KVAR
C 3KVAR
D 4KVAR

32  In which condition resonance will occur in R-L-
C series circuit? | 3TR-Ter-AT A0t gy & fovg
Eufd & 31e7e1e; ghom?

A Inductive reactance (XL) is zero | 9T
e (XL) T &

B Inductive reactance (XL) is equal to capacitive

reactance (XC) | 9XehT gfderd (XL) e
gfaerd (XC) F I g

C Inductive reactance (XL) is greater than

capacitive reactance (XC) | 9T 9TETdT (XL)
TR gfaera (xc) ¥ AR+ g

D Inductive reactance (XL) is less than capacitive

reactance (XC) | 9Xehr gfderd (XL) TR
gfaerd (xo) A FHIE
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33 How will you obtain positive reading in the
wattmeter reads negative reading during 3- phase

two wattmeter method? | 3 eIl &I dreH e fAfer
H gTecHIET % FHUMcHS 16T col U 3T

ETeTTcHeh UTGATh hl UTC hidl?
A By interchanging the connections of input
terminals | 33T FERT & TITSTeT 39 H Seoled W

B By disconnecting the connection of current coil

in meter | Wi%?ﬁﬁmﬁﬁﬁﬁmﬁm

ory
C By reversing the connection of pressure coil in
meter | F1EY A ST Fell & TSI scelel T

D By reversing the pressure coil and current coil

connection in meter | vﬂaﬁm@?ﬁrsﬂ?w

ol & HATSIeT Ferelal T

34 Whatis the form factor (Kf) for sinusoidal AC?

| SITahIT THY & ToIT B there (Kf) FAT &2

A 1

B 1.11
Cc 222
D 4.44

35 Whatis the reciprocal of inductance in AC

parallel circuit? | TEY FATATAR IRIY H Uehed T
IRETRE FATE?

A  Reactance | 9faard

B  Admittance | USfACH

C Conductance | dTelehdl

D Susceptance | EECH

36 What relationship is illustrated in between the
current and voltage? | RT U9 dlecal & LT HiaT

T GFSoST SATAT ITAT &2

+

AV

A Current and voltage are “in phase” | &I g
ool GATT HeTH g
B Current and voltage are in out of phase | &I

Ud dlecol sholl H oTgl o
C Current lags behind the voltage | ¢TRT, dlecol
F NS @ATg

D Current leads ahead of the voltage | T,
drecal %aw’msail %’

37 Calculate the total power by two wattmeter
(W1 & W2) method, if one of the wattmeter (W2)

reading is taken after reversing. | &I aTeHTEY (W1 &
W2) fafer gary et e iy 1ot X, Ife veh

greseT (W2) DS 3oea & a1 oy ST &1
A Wix2

B W1only | ael W1

C WI1-W2

D W1+W2

38 In which 3 phase system, the artificial neutral
is required to measure the phase voltage? | i AT

3 FeAT O 3, ot AT Y AT 3 T iy
3Tl AR T 3TaRThdT glail o7

A 3 wire star connected system | 3 dX ¥
AT faEes

B 4 wire star connected system | 4 dX ¥
AT faEes

C 3 wire delta connected system | 3 dR Seel
AT faEeA

D 4 wire delta connected system | 4 dR Secl

TS aeed

39 Whatis the line voltage in 3 phase system if

the phase voltage is 240V? | 3 ol ATeH H Ife
Ut dlecot 240V 81, oY elTSeT dlecol T gIalr?

A 380 Volt
B 400 Volt
C 415Volt
D 440Volt

40 Which formula is used to calculate Form
factor (Kf)? | TI# here(Ke) T §T FATE?
A K =Zffectivevalue | oo AT/ 3T AT

Average value

K = oeragevalie |\ Sie HTet/SeTrel HieT

B Effective value

C K= Lfectivevalue |\ gorrdt AT/ 31w

Maximum value
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AT
D Ky=-Xeregevalue | g HIel/3HRIhaH

Maximumvalue

41  Which formula is used to calculate the
impedance (z) of a RLC series circuit? | RLC ’{GF-IT

afdhe & Ui (2) 1 10T et & e fra g7

T 39197 fohar SITar &7
Z = R? + (x,~ xc)?

B Z=+R?+ (x,~x)
C Z=+R+ (XLN XC)
D Z=R?+ (x,~x.)?

42 What s the power factor if one of the
wattmeter gives negative reading in two wattmeter

method of 3 phase power measurement? | 3 ic)
QIfFa AT & &Y afesiiex Afer 7 afe v areaiiex
HUTcHS UTSTTH &l &, dl ITaX thefe T 82

A 0

B 05

C Unity | S&TS

D Lessthan 0.5 | 0.5 @&

43  What s the phase displacement between
phases in a 3-phase circuit? | 3 FelT TAT IRIT &

FATR ThdeT 8T &7
A 90°

B 120°

C 180°

D 360°

44 Which condition is called as resonance RLC

circuit? | T eI &l 3eeTe RLC Tidhe e

ST 8?

A Xi>Xc
B Xc>X.
C X|_=Xc
D R<X|_

45 Which quantity is rotating at a constant

angular velocity? | W@mmﬁmﬁ
qRATOT & EoT gIdT &7

A Scalar quantity | ThelX IREATOT

B Vector quantity | el IRHATOT

C  Phasor quantity | &< IRHATOT

D Algebraic quantity | 3TTelfoiTsieh TIRHATOT
Answers:

1-A|2-B|3-B|5-C|6-D|7-B]|
8-C|9-C|11-D|12-C|13-A|14-A|
15-B|16-B|17-C|18-D|19-B | 20-C |
21-D|22-D|24-C|25-D|26-D|27-A|
28-A|29-C|30-B|31-C|32-B|33-C|
34-B|35-D|36-A|37-C|38-C|39-C|
40-A|41-D|42-D|43-B|44-C|45-C|
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